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For instance, she died because of the air - IR DR anRw A

Overview

The mwn first stated that if one rented a donkey to take it in the valley and instead
took it in the mountain (or vice versa) and the donkey dies; he is liable (without any
qualifications). However in the next case the 71wn ruled that he is liable only if the
donkey slipped in the mountain or overheated in the valley. The X 3 asks this
question and explains that in the X1 it died because of the air (not 72m7 and not
7P?m). Our Moo explains how this resolves the difficulty.

= 9005 IN AYYWN NN IN NYPAN 9N D913 NIIYN X NN 0 IMRY WT1IY Y199
The explanation of the answer (1”77 nann naw) is that it was known? that on
this day there was an unusual weather (air) in the mountain more than there

was in the valley or vice versa on account of snow or rain -
— 3PV 19909 INIINN MM

So it is considered that there was negligence in the beginning* and in the end.’

Moo comments (anticipating a difficulty):
= 79AN 913 NN NT 9N NIDIND VPI KDY NYPAI NN 9N NIMIND VPI SN

And therefore it is understood why the 71w» mentioned; ‘to take her to the
mountain, and he took her to the valley’, but the 71w did not mention, ‘to take

her to this mountain and he took her to the other mountain, he is 2’ the reason is -
= $MYPAY D901 RINX IR MINVNY M9 PRT DIVN

Because it is not common that there is a change of weather (air) unless it is from
the mountains to the valleys (there is usually different weather in these two locations) -

! The term w170, indicates that Mmoo is rejecting a different explanation. Here it seems Moo is rejecting 7"72 >"wAD
nnnw, which maintains that the 9°>wn can claim the air of the mountain (or valley) caused her to die.
2 This (presumably) means that everyone including the 131w was aware of this beforehand.
3 The 70w will be 211 even according to the MuD 01IX2 19101 7Y°WH2 N2 NN 77, since here it was AY W1 19 NP7,
4 The nv*w» in the beginning is because of the possibility of 7772 7pmiA (or AvP2 AAAN).
5 The ny'wo in the end is because he took the 711 to a place where there was unusual weather, which can be damaging
to the 7.
¢ [This means that since we are interpreting the mawn that he is 211 only if it was known that there is a weather change
(not like "wno [see footnote # 1] that the 7°5wn can merely claim [without proof] that the weather killed her), we will
understand why the 71w states 7vpa% 2mn (or 72 7YPan) but not AYRAY AYPIN W D nn.]
7 Since it was known that there was a change in weather, he is 211 even if the change was 7772 2.
8 [The mwn, by stating 7ypa» 7an, is indicating to us that the death was caused by a change in weather, which occurs
regularly between a 177 and a 7ypa.]
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$INNYNY TN 7T PR NYPAY NYPam 1Y 90m Yan
However, from one mountain to another mountain, or from one valley to another
valley it is not usual that there is a weather change.

Summary
The 25w is 2711 (in a case of 7vp2? 17n) only if it was known that there was a "W
7K.

Thinking it over
Why does n19010 not agree to "o (and vice versa)?'?

? The mwn teaches us this ruling where it usually can occur (which is 7vpa 97n [but not 1772 27]); however if it was
known that there is a change of weather 1777 27, he is also 27n.
10'See 71707 *won X # 81-4.
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